FIRFEREZMNU-ITYh—KE
98238 (A).248 (A)

25 HrEsBYyh—15

KEM—F AV RBRAKEBMIIERT, 427 — A FHA. KEFBOSEICEYNR T SATHEEABYET,

REh—F AT
| Jr=yHRY—451

5 0 F—L% | TILR/Z| LE-de 3t B# o | Ba|Ba]|&|X|Z] B
IR R 1 x 3|2 O t|t1|o|1| 3 |3|4|-1] 2
2 1 4 1 t2-4s|3 O 1 2 O 1 ojo| 6 |5[2]3] 1
Bg |1 o x 2|1 x 2 oj{o|2| 0o |2|4|-2] 3
12 0 1 2 2 0 2 6
TI=wHRY—52
IiLY—L e RE Arearea sk ASC A A I)F7—I| F—L% | 7z)—L | ASC B B/ | B o || BB K| E] Bk
0 4 5 0 Jzly—L 3 O 1|0 A of]t1]|1]o0 3| 1]2] 2
Asc B|1 x 3 1 x 5]ofo0]2 2|8|-6] 3
B/ |0 A 0|5 O 1 1|11]0 5014 1
ko EAEYvh—I5AI—+ &k ENEYyA—HEBI—~
EE) B # & icS HE B # & icS TJI=yHR)—43
1 9:30 IiLy—L - i 1 9:30 IILRIR - 2-4e3t F—L% #& BN A—AN) || »|B|BR|B| x| =] IE
2 10:05 R — Arearea 2 10:05 Jz)—L — ASC B #® 0 A 0|0 x 3Jlo|t1]|1] 1 ]o|3]|-3] 2
3 10:40 dbt - ASC A 3 10:40 % - &N N 0 A O 0 x 7 111 1 Jo|7|-7] 3
4 11:15 bl - 97— 4 11:15 TILR/R - =E3] 1—x)L |3 O 0|7 O 0 2/0|0f| 6 |J10]0(10] 1
5 11:50 15 - 2055 5 11:50 Jz)—L — B/ 5
6 12:25 181+ - 28+ 6 12:25 & — a1—RJL
7 13:00 3L — 4B55 7 13:00 E2-dt3 — B#r
8 13:35 3&lT - 481+ 8 13:35 ASC B - B/ b
9 14:10 - 9 14:10 & — 21—~
10 14:45 55 - 7H5 10 14:45 —




